QID:1-
In the following question, select the number which

can be placed at the sign of question mark (?) from
the given alternatives.

Traeiag oy § w7 feedt & @ uy g
(?) & TAT TT AT ATl TEAT P Je|

213 |7 |17
5|6 | 8|7
716|327

Options:
1) 40

2) 42
3) 46

4) 58
Correct Answer: 46
Candidate Answer: [ NOT ANSWERED ]

QD:2-

How many rectangles are there in the given figure?

& S i & forae amaa g2

Options:
1)3

2)4
3)5

4)6
Correct Answer: 4
Candidate Answer: 3




QID:3-

A word is represented by only one sel of numbers as given in any one of
the allernatives. The sets of numbers given in the alternatives are
represented by two classes of alphabets as shown in the given two
matrices. The columns and rows of Matrix-1 are numbered from 0 to 4 and
that of Matrix-ll are numbered from & to 8. A letter from these matnces can
be represented first by ils row and next by its column, for example, ‘C’ can
be represented by 13, 68, etc., and ‘N’ can be represented by 04, 89, etc.
Similarly, you have to identify the set for the word “RACE”.

TS UG Shadt U QEIT-HAE &RT Geiam T @, ohr R famedt & &
Rt # fgar T &) Rwedt # By Tv deaT-wep SRl & o a9t
3T g I R, o R T aw o seggl & ¥ anegsl & waew i
Of T HEar 0 § 4 ¥ IR ImegE A 5§ 91 3 YR ¥ US W
W uwel M dfn 3R a9 # TaFEH wEAT G g o @ &
3gIEoT & fow «C* @t 13, 68 3T GRT G SN Thar § @ N’ @l 04,
89, afe g getar o1 wwar §1 =N T @ o wa A T g
“RACE” & QU gep @ awmeE=n $

Matrix-I Matrix-ll

I Il
011234 516|789
O|F|E|K|[O|N 5 M|E|Z|S| T
1|PIMA|C|T 6|Z|K|F|C|Z
21ZI{G{wW|I|Q iLjaQlZ|y|D
3|DIF|A|L|IR S8|A|E|I|[S|N
4101 [S|P|X 9 Q|R|TIRY |

Options:
1) 34,32,02,56

2) 96, 86,97, 98
3) 98,12, 13,01

4) 23,89, 68,23
Correct Answer: 98, 12,13, 01
Candidate Answer: 98,12, 13,01

QID:4-

From the given answer figures, select the one in
which the question figure is hidden/embedded.

& 9% X Ipiadl # § 3@ I HFA H g
| # oy gl T &




Options:

1)

4)

Correct Answer:

=

Candidate Answer:

QiD:5-
Which answer figure will complete the pattern in the
question figure?

wid dl 390 BT U HPa & UkART @ g
HL?

-\JN

“\
e




Options:

1)

\&

n

w

NS

£y
~

k&

Correct Answer:

\&

Candidate Answer:

k&

QID:6-

If a mirror is placed on the line AB, then which of the
answer figures is the right image of the given
figure?

ofE T ZduT @ AB Y@ WX T@l ST, & & TS
SO AEaal d @ B § gl Uy awE @
el ufatesa gref?

AR B




Options:

)

Correct Answer:

Candidate Answer:

QD:7-
A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened?

dRr & Uy AEiadl AT MR e @
AIZHT DEd I Tied & aIg 9% hE 39 ATHa
ST fearg game

Tk

—_—
I R A e e e W e L n,:«s._a-:;mﬂy /



Options:

1)

O

n

w
=

£y
~

) ) @

Correct Answer:

o)

Candidate Answer:

(©)

QID : 8 - If 'A' means '+, 'B' means 'x/, 'C' means '+' and 'D' means '-', then
53A2D39C3B2=7?
afe; ‘A" aT 31ef '+, 'B" T 31ef 'x', 'C' T aref '+ g ‘D' @t aref - @Y, &t

53A2D39C3B2=7?
Options:

1)37

2) 31

3) 29

4) 43

Correct Answer: 29
Candidate Answer: 29

QID:9-1f4B3B2=423and6B0B1=610,then
9B1B4=2?
TR 4B3B2=423auT6B0B1=610g,at

9B1B4=?

Options:

1) 149

2) 194

3) 941

4) 419

Correct Answer: 941
Candidate Answer: 941




QID : 10 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Soup
2. Sour

3. Song
4. Some
5. Solid

frfafa el @l ereaeler § o arct F & SrgaR o)

1. Soup
2. Sour

3.Song
4. Some
5. Solid

Options:
1) 53421

2) 54312
3) 53412

4) 54321
Correct Answer: 54312
Candidate Answer: 53412

QID : 11 - In the following question, select the missing number from the given series.
3,7,15,31,?
Freafafed wy § Rg g el 4 @ g sfe 3/ HifSigl

3,7,15,31,?
Options:
1) 62

2) 63
3)94

4) 93
Correct Answer: 63
Candidate Answer: 63

QID : 12 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
FH?20,QTX
e Sigeed e T B, O & U UG g 21 g T forehedt 7 & 9 wel fohed gy, ST orgshA Sl g el

FH2,0QTX
Options:

1)K

2)J

3)1

4L

Correct Answer: K
Candidate Answer: L

QID : 13 - In the following question, select the odd word from the given alternatives.

Frafafed e 3§ e g el d @ fawe g &6t gfhg)
Options:

1) Fan

qEr

2) Cooler

QR

3) Air

ag

4) Air Conditioner

EINIGCET

Correct Answer: Air

ag

Candidate Answer: Air Conditioner

BINIGCNET




QID : 14 - In the following question, select the odd number pair from the given alternatives.

Frafafea wyr § Ry g Reredt § @ faws wear g <t gfg)
Options:

1)6-217

2)5-126

3)7-344

4)9-728

Correct Answer: 9 — 728

Candidate Answer: 9 — 728

QID : 15 - In the following question, select the odd letters from the given alternatives.

Frafafea e 7 Ry g eedt & & fawe siert @ gkl

Options:
1) DG

2)KN
3)SwW

4) QT
Correct Answer: SW
Candidate Answer: SW

QID : 16 - Identify the diagram that best represents the relationship among the given classes.

Pencil, Rubber, Stationery
g8 o g Sit A2 fag g ot & < & weier ot agt T shear &1

Options:

00
®

2

@0

3)

4

Correct Answer:

Candidate Answer:

@




QID : 17 - In the following question, select the related word from the given alternatives.
Blue : Colour : : Scooter : ?
Frafafed wy g g feneat 7 & Haifda g &t gl

e & wgeR: ?
Options:

1) Motor

Al

2) Vehicle
argT

3) White
ihg

4) Medium
NICE

Correct Answer: Vehicle
qrgT

Candidate Answer: Vehicle

argt

QID : 18 - In the following question, select the related number from the given alternatives.
7:49::11:?

Frafafed wy § g g et 7 & ddfda de & gl

7:49::11:?

Options:

1)121

2)131

3)211
4)141

Correct Answer: 121
Candidate Answer: 121

QID : 19 - In the following question, select the related letters from the given alternatives.
RAT:UDW::CUP:?

FrfafEa e 7 Ry 7y e § @ Gefda s &t gfg

RAT:UDW::CUP:?

Options:

1) FXS

2) FXT

3) FYS

4) GXS
Correct Answer: FXS
Candidate Answer: FXS

QID : 20 - In the following question, select the word which cannot be formed using the letters of the given word.
CREATION
Frafafed et 8 @ ag g gfag St 3y 71q 21eg & 31eRY 1 yaiT vch T ST S SehdT|

CREATION
Options:
1) REACT

2) RAID
3) RATION

4) ATE
Correct Answer: RAID
Candidate Answer: RAID

QID : 21 - Raman is 18t from left end in a row. If there are total 38 boys, then what is his position from right end of the row?

T U Ufeh § a1 8RR @ 18-af &1 iR Ufkh & et 38 e &, At IHH W T SR A Fr @7




Options:
1) 20

2) 21
3)19

4) 22
Correct Answer: 21
Candidate Answer: 21

QID : 22 - Sum of present ages of A and B is 47 years. After 5 years, there ages will be in ratio 8 : 11. What is the present age (in years) of A?

A1 B Y oo Sy 1 Al 47 o 21 5 aef ugyra, Sehr o1 8 : 11 & SiguTa # g1 A hr adam g (awt F) i @2
Options:

1)19

2)20

3)24

4) 25
Correct Answer: 19
Candidate Answer: 19

QID : 23 - In the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they seem to be at
variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:
1. Some pencils are pens.
1. All pens are cups.

Conclusions:
|. Some cups are pencils.
Il. Some pens are pencils.

12 g TG w9 A 5 e SfR S 916 S U WR TR 5 sy iy g &, g1etifeh S S A1 aeat | fHean g Sendt 81 et e v ofik iRk MafRa o iR Ry mg @l
@ fasend, fag 71q sl & SR R giedTa 81

hYA:
|. 7 G w8l
1. woft et a1

fAeep:

|. 5 & iR &1

I B T ORI &1

Options:

1) Only conclusion (1) follows.

hae R (1) 98 81

2) Only conclusion (ll) follows.

Ferer s (1) T 81

3) Both conclusion follow.

21 & e T8t 8l

4) Neither conclusion (I) nor conclusion (I1) follows.
T at fend (1) =1 gt fAneee (1) Tt 81

Correct Answer: Both conclusion follow.
Qi g1 Frserd @ 81

Candidate Answer: Both conclusion follow.

g1 gt e g &1
QID : 24 - In a certain code language, "STRAIN" is written as "HGIZRM". How is "FRONT" written in that code language?

Ueh fAfAE @te o ), "STRAIN" @t "HGIZRM" forar ST 21 39 his 91T & "FRONT" ! foh wenR forar strgamm?

Options:
1) GSIZM

2) GLMIU
3) UILMG

4) UFDXC
Correct Answer: UILMG
Candidate Answer: UILMG

QID : 25 - In a certain code language, "TALL" is written as "50" and "TRIM" is written as "65". How is "TILE" written in that code language?

e fafre @i Wi |, "TALL' &t 50"

L BT T E L =
U e PR e v




Options:
1) 50

2) 51
3)52

4)49
Correct Answer: 51
Candidate Answer: 51

QID : 26 - What is the highest common factor of 12, 15 and 45?

12, 15 AT 45 T Ag<H JHTIGR T &7
Options:

Correct Answer: 3
Candidate Answer: 3

QID : 27 - Which of the following statement(s) is/are true?

L. (11/14) > (7/13)
I (16/9) > (17/11)

fFrafafaa § @ a9 a/8 sy 9 8/87?

. (11/14) > (7/13)
IL. (16/9) > (17/11)

Options:
1) Only |
hae |

2) Only II
GHad |l

3)Both land Il

| o |1 =t

4) Neither I nor II

aartagn

Correct Answer: Both | and 1|
| g |l gt

Candidate Answer: Both land Il
| |l gt

QID : 28 - What is the value of (4.3 + 3.1)2 - (4.3 - 3.1)2?

(4.3+3.1)2- (4.3 -3.1) 2w A T E?

Options:

1) 53.32

2) 26

3)27.19

4)28

Correct Answer: 53.32
Candidate Answer: 53.32

QID : 29 - What is the simplified value of [(V6 = v4) = (V6 + v4)]?

[(v6 = v4) + (V6 + v4)] T TRelicha A T 2

Options:

1)5+v24

2)6 - 3v24

3)5-2v24

4)5-v24

Correct Answer: 5 - v24
Candidate Answer: 5 — v24

QID : 30 - Which of the following statement(s) is/are true?

I. 73 is a composite number.
IL. There are 6 numbers between 1 to 120 which are divisible by 3 and 9.

FafafRT & 9 o /2 sy I 8/82

. 73 ek HY<h ST gl
1.1 & 120 & <fir 3 aur 9 & RAarsa




Options:
1) Only |
&ae |

2) Only Il
Gad |l

3) Both land Il

| T 1l gt

4) Neither | nor Il

aarlagin

Correct Answer: Neither | nor Il

aariagi
Candidate Answer: [ NOT ANSWERED ]

QID : 31 - If A= 45 x 52 and B = 5% x 43, then what is the value of (A x B)?

iy A = 45 x 52 g1 B = 5% x 43, @t (A x B) &1 A @1 82
Options:

1) 4956

2) 418 58

3) 512 48

4) 49 58

Correct Answer: 4° 56

Candidate Answer: 4° 56

QID : 32 - L alone can do a work in 100 hours. M alone can do the same in 150 hours. L, M and N together can do the same work in 30 hours. In how many hours can
N alone do the work?

L Qe &R Rl 31ShedT 100 € H &R FehdT &1 M IHY & et 3rehar 150 ©¢ & e JehdT gl L, M FaT N fAictenr 3t & aht 30 ¢ & o Gehd &1 N 31Shell 39 Y &l foha €8 & &R Fehal
g?

Options:

1) 65

2) 60

3)40

4) 90

Correct Answer: 60

Candidate Answer: 60

QID : 33 - Two pipes P and Q can fill the tank alone in 120 and 80 hours respectively. If they are opened together, then in how many hours will the tank be filled?

31 Uy P @t Q Ueh &ht aht shART: 120 9T 80 €2 H R Uahd &1 Afg g1 ursul oY ues a1y @ier oy o, af &t foham € & wR smafi?
Options:

1)24

2) 48

3) 100

4)120

Correct Answer: 48

Candidate Answer: 48

QID : 34 - What is the area (in cm?) of a triangle having sides 15 cm, 8 cm and 17 cm?

15 3.3, 8 Tt Far 17 A, yor aret Byt @ ehet (342 F) wd?
Options:

1)75

2) 60

3)120

4) 90

Correct Answer: 60

Candidate Answer: 60

QID : 35 - A merchant purchases a watch for Rs 525 and fixes its marked price in such a way that after allowing a discount of 25%, he earns a profit of 10%. What is
the marked price (in Rs) of the watch?

ek AT 525 % H ok Tt WeiadT € T 596 Sifthd e 39 v iR &war & 16 25% 6 ge 33 & usa oft 3§ 10% o1 a1y vied gien 81 91 7 sifehd e (3 F) ®nd?

Options:

1) 750

2) 670

3) 690

4) 770

Correct Answer: 770
Candidate Answer: 770




QID : 36 - Pankaj bought a chair with 21% discount on the marked price. Had he bought it with 23% discount, then he would have saved Rs 70. At what price (in Rs)
did Pankaj bought the chair?

Uehst Gk il ol ITch Sifthd Hed UR 21% ol e & W1 Wiear 81 3 I9 23% e & 91y @ial giar at I 70 T <l Fod gidt | Uehet 3 e 7e (3 ) wR el ot et am?

Options:
1) 2705
2) 2815
3) 2695
4) 2765

Correct Answer: 2765
Candidate Answer: 2765

QID:37-IfA:B=3:1andA:C=7:4,then whatis (A+B): (B+C)?

G A:B=3:1aWMA:C=7:48,a(A+B):(B+C)wmg?
Options:

1)28:19

2) 56 :37

3)19:28

4)29:6

Correct Answer: 28 : 19

Candidate Answer: 28 : 19

QID : 38 - If the sum of two numbers is equal to eight times of their difference, then what is the ratio of the numbers?

T 3F TeeaTsil o1 AT I SieR & S1TS TAT & SRTeR &, At TSt} ol SiguTd T &2
Options:

1)9:11

2)7:4

3)9:7

4)4:9

Correct Answer: 9:7

Candidate Answer: 9:7

QID : 39 - The average weight of a class is 52 kg. If a student with weight 118 kg. joins the class, then new average weight becomes 58 kg. How many total students
are there in the class?

ek el T Sied WR 52 6., €1 afS gk 118 fon.am. R aren o1 et # M & S, |t 727 3= YR 58 5.3, 8 5111 §1 e § gt fohast &1 82
Options:

1)19

2)10

3) 21

4)18

Correct Answer: 10

Candidate Answer: 10

QID : 40 - A man buys a fan for Rs 30 and sells it for Rs 36. What is his gain percent?

ok efoh Teh UaT 30 ¥ H WRiEdT & 9UT 39 36 3 B Sudr | S9! A1 ufaRrd or g7
Options:

1) 40

2)10

3)20

4)16.67

Correct Answer: 20

Candidate Answer: 20

QID: 41 - If apples are bought at the rate of 8 for a rupee, then how many apples must be sold for a rupee so as to gain 14.28%?

afe goh T | 8 i & & Ve WS 1Y, F Uep w0 H fohat 9 oo U< drich 14.28% I 197 &7
Options:

16

2)7

3)4

4)3

Correct Answer: 7

Candidate Answer: 7

QID : 42 - P is 60% less than Q. Q is 50% more than R. R is 20% more than S. If Sis 1500, then what is the value of P?

PQA60%FHEIQ, R 50% 31k &1 R, S & 20% 1fer &13f¢ S, 1500 &, &t P &1 A a1 82

Options:
1) 1240
2) 1080
3) 1140 B e e e )



Correct Answer: 1080
Candidate Answer: 1080

QID : 43 - In a regiment 45% soldiers are commanders. If the number of commanders is 6750, then what is the total number of soldiers in the regiment?

e e 7 45% dfen dwrer &1 afe dwredl i e 6750 8, at e J Sfel i e de i g2

Options:
1) 15000
2) 17500
3) 18000
4) 16000
Correct Answer: 15000

Candidate Answer: 15000

QID : 44 - The downstream speed of a boat is 85 km/hr and the speed of current is 10 km/hr. What is the total time (in hours) taken by the boat to cover 130 km
upstream and 170 km downstream?

forelt e it fey e < srgcRet 85 Rl /der & T e it fy 10 okt /ger 81 amr & oo 130 s, g ot & sigepet 170 5., & @ oo e & 19 gRT o fohae o
(eici 7) forar mam?

Options:

12

2)4

3)6

4)8

Correct Answer: 4

Candidate Answer: 4

QID : 45 - A man goes to a place at a speed of 70 km/hr and comes back with a different speed. If the average speed is 17.5 km/hr, then what is the return speed (in
km/hr)?

ek eifeh 70 f36.H1./eer & iy § Rt Uen e R SITaT § 9T e 9 1 R aru orar &1 At ofid i 17.5 s . /g &, @ arsy enat wma aifa (R /8 7) i g2
Options:

1)12

2)52.5

3)10

4)20

Correct Answer: 10

Candidate Answer: 10

QID : 46 - What is the compound interest (in Rs) on a sum of Rs 12000 for 2 years at the rate of 5% per annum compounded annually?

12000 ¥ o e TR 5% i aififes 23 w arftier Hater & 2 avi o1 aehgfe =TT (% 8) o1 8?2
Options:

1) 1250

2) 1200

3) 1230

4) 1300

Correct Answer: 1230

Candidate Answer: 1230




QID:47-

The pie chart given below shows the number of
students enrolled in 5 different subjects P, Q, R, 8
and T. The tfotal number of students is 300.

R T ow @ R # 5 Rftes Rt
P,Q R, STMT H ATHGT &I aTer SET dr
HEAT T gRiar AT {1 oTEr B por wEar 300

T, 102° P. 108°

S, 60°
Q, 54°

R, 36°

What is the combined number of students enrolled in subject T and P?

oz T a1 P & AT e aTet BTHT Y GG S T 82
Options:

4) 210
Correct Answer: 175
Candidate Answer: 175

QID : 48 -

The pie chart given below shows the number of
students enrolled in 5 different subjects P, Q, R, S
and T. The total number of students is 300.

7 feT s og@ " A& 5 Rfdes fRwat
P,Q R, STMT H AHGT &It arer SET dr
HEAT &I ST =TAT g1 OIS 6 Foa wear 300 g

T, 102° P, 108°

S, 60°
Q, 54°

R, 36°

What is the difference between the number of students enrolled in subject S and P?

oo S gt P & AR R dTet ST hl TR o 3R T 87

—
I R e e T S L I G e i e e e o I s/



Options:

1)24

2) 60

3) 40

4) 48

Correct Answer: 40
Candidate Answer: 40

QID: 49 -

The pie chart given below shows the number of
students enrolled in 5 different subjects P, Q, R, S
and T. The total number of students is 300.

A BT s o7 Ry A7 5 fdea Ruar
P.Q,R,STMT & ATHITT FIT arel BIET dr
HEAT T gRfar AT g1 oTar B por wEar 300

T, 102° P, 108°

5, 60°
Q, 54°

R, 36°

How many students are enrolled in subject Q and T together?

fow Q g T & e fohaet o1t 3 iR foham &2
Options:

1) 156

2) 130

3) 260

4) 480

Correct Answer: 130

Candidate Answer: 130




QID: 50 -

The pie chart given below shows the number of
students enrolled in 5 different subjects P, Q, R, 8
and T. The tfotal number of students is 300.

R T ow @ R # 5 Rftes Rt
P,Q R, STMT H ATHGT &I aTer SET dr
HEAT T gRiar AT {1 oTEr B por wEar 300

T, 102° P. 108°

S, 60°
Q, 54°

R, 36°

The combined number of students enrolled in subject S and R is what percent of that of subject T?

o S G R & AT A aret BT ht Sy G, fawa T et fhamm ufasia 872

Options:

1) 96.43

2) 102

3)6

4) 94.11

Correct Answer: 94.11

Candidate Answer: 94.11

QID : 51 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If
a sentence is free from error, select 'No Error'.

Lack of indiscipline (1)/ is ailing the (2)/ present day education system (3)/ No Error (4)
Options:

1)1

2)2

3)3

4)4

Correct Answer: 4

Candidate Answer: 4

QID : 52 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If
a sentence is free from error, select 'No Error'.

A scared image (1)/ was being carried (2)/ to the temple (3)/ No error (4)
Options:

Correct Answer: 1
Candidate Answer: 3

QID : 53 - In the following question, the sentence is given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate
it by selecting the appropriate option.

Rohan has always been enthusiast when it comes to travel.

Options:

1a

2) an

3) the

4) No option is correct

Correct Answer: an

(R e e e o e o ey R X)) / |



QID : 54 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

My grandmother brought me
Options:

1a

2) an

3) the

4) No option is correct
Correct Answer: the

Candidate Answer: the

best present ever.

QID : 55 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Congenial
Options:

1) Displeasing
2) Favourable
3) Grumpy

4) Shabby

Correct Answer: Favourable
Candidate Answer: Favourable

QID : 56 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Abstain
Options:

1) Refrain
2) Ingest

3) Take in
4) Consume

Correct Answer: Refrain
Candidate Answer: Refrain

QID : 57 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Abdicate
Options:

1) Join

2) Search
3) Abandon
4) Advance

Correct Answer: Abandon
Candidate Answer: Abandon

QID : 58 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Traditional

Options:

1) Meekness

2) Modern

3) Conventional

4) Conservative

Correct Answer: Modern

Candidate Answer: Modern

QID : 59 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Predecessor

Options:

1) Processor

2) Successor

3) Professor

4) Dresser

Correct Answer: Successor

Candidate Answer: Successor

QID : 60 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Flicker
Options:

1) Quiver

2) Burn steadily

3) Deformity . —
A4\ Precane M T e e el . ]




Correct Answer: Burn steadily
Candidate Answer: Quiver

QID : 61 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Best of both worlds

Options:

1) Having all the advantages

2) Having all the disadvantages

3) Having fun

4) Having trouble

Correct Answer: Having all the advantages

Candidate Answer: Having all the advantages

QID : 62 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

In the teeth of
Options:

1) Real cause
2) In the face of
3) Inthe end

4) To chase

Correct Answer: In the face of
Candidate Answer: In the face of

QID : 63 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no improvement is
needed, select "no improvement”.

| follow a (plan of never expecting) much from anyone.

Options:

1) plan of not expecting
2) policy of ever expecting
3) policy of not expecting
4) No improvement

Correct Answer: policy of not expecting
Candidate Answer: [ NOT ANSWERED ]

QID : 64 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no improvement is
needed, select "no improvement".

He has said so out of affection, do not take (it to heart).
Options:

1) in heart

2) by the heart

3) it in the heart

4) No improvement

Correct Answer: No improvement
Candidate Answer: by the heart

QID : 65 - In the following question, out of the four alternatives, select the alternative which is best substitute of the phrase.

one who has or displays a quick and delicate appreciation of others' feelings.
Options:

1) Singer

2) Sincere

3) Sensitive

4) Selective

Correct Answer: Sensitive

Candidate Answer: Sensitive

QID : 66 - In the following question, out of the four alternatives, select the alternative which is best substitute of the phrase.

repeatedly committing the same offence and typically following a characteristic, predictable behaviour pattern
Options:

1) Cereal

2) Serial

3) Sign

4) Sick

Correct Answer: Serial

Candidate Answer: Cereal

QID : 67 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.

(R e e e o e o ey R X)) / |



Options:

1) Signage

2) Sigage

3) Sighnage

4) Cighnage

Correct Answer: Signage

Candidate Answer: [ NOT ANSWERED ]

QID : 68 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.
Options:

1) Fulfilment

2) Fullfillment

3) Fullfilment

4) Fulfillment

Correct Answer: Fulfilment

Candidate Answer: Fullfilment

QID : 69 - The question below consists of a set of labelled sentences. These sentences, when properly sequenced form a coherent paragraph. Select the most logical
order of sentences from among the options

One must

P- with the

Q- change

R- changing times
Options:

1) QRP

2) RPQ

3) PQR

4) QPR

Correct Answer: QPR
Candidate Answer: QPR

QID : 70 - The question below consists of a set of labelled sentences. These sentences, when properly sequenced form a coherent paragraph. Select the most logical
order of sentences from among the options

Hina

P- the eighth standard
Q- with flying colours
R- passed her
Options:

1) QRP

2) RPQ

3) PQR

4) QPR

Correct Answer: RPQ
Candidate Answer: RPQ

QID : 71 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

People moan about poverty as a great and it seems to be an accepted belief that if people had of money, they would be , and get more out
of life. As arule there ______ more genuine satisfaction in life and more is obtained from life in the humble cottage of the poor man in the palace of rich
men, who are attended by servants and governesses at a later stage.

People moan about poverty as a great
Options:

1) aiding

2) benevolent

3) evil

4) moral

Correct Answer: evil

Candidate Answer: evil

QID : 72 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

People moan about poverty as a great and it seems to be an accepted belief that if people had of money, they would be , and get more out
of life. As a rule there more genuine satisfaction in life and more is obtained from life in the humble cottage of the poor man in the palace of rich
men, who are attended by servants and governesses at a later stage.

if people had of money,
Options:

1) lack

2) want

3) scarcity

4) plenty

Correct Answer: plenty
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QID : 73 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

People moan about poverty as a great and it seems to be an accepted belief that if people had of money, they would be , and get more out
of life. As arulethere ______ more genuine satisfaction in life and more is obtained from life in the humble cottage of the poor man in the palace of rich
men, who are attended by servants and governesses at a later stage.

they wouldbe________, and get more out of life.
Options:

1) depressed

2) miserable

3) happy

4) sad

Correct Answer: happy

Candidate Answer: depressed

QID : 74 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

People moan about poverty as a great and it seems to be an accepted belief that if people had of money, they would be , and get more out
of life. As a rule there more genuine satisfaction in life and more is obtained from life in the humble cottage of the poor man in the palace of rich
men, who are attended by servants and governesses at a later stage.

As arule there
Options:

1) are

2) were

3) have

4)is

Correct Answer: is
Candidate Answer: is

more genuine satisfaction in life

QID : 75 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

People moan about poverty as a great and it seems to be an accepted belief that if peoplehad ______ of money, theywouldbe _______, and get more out
of life. As a rule there more genuine satisfaction in life and more is obtained from life in the humble cottage of the poor man in the palace of rich
men, who are attended by servants and governesses at a later stage.

more is obtained from life in the humble cottage of the poor man
Options:

1) rather

2) there

3) those

4) than

Correct Answer: than

Candidate Answer: than

in the palace of rich men

QID : 76 - Sarva Shiksha Abhiyan provides elementary education to all children in the age group of years.

o frer sifdyams aef & oy it & goff o= Rt vrafies e neE wRar Bl

Options:

1) 4to 8 years
4389

2) 6 to 14 years

6 9 14 91t

3) 14 to 17 years
14817 91

4) No option is correct

i Rehed Tt TE &

Correct Answer: 6 to 14 years
69 14 91t

Candidate Answer: 6 to 14 years
69 14 91t

QID : 77 - National Food for the Work Programme was launched in the year of in 150 most backward districts of India.

"I & eet I AL HRIRA" T H 9RA & Fad e 150 fSrel 7 = fovar mar am
Options:

1) 2000

2) 2002

3) 2004

4) 2006

Correct Answer: 2004

Candidate Answer: [ NOT ANSWERED |
R e T e e e e e 1. 2 ]




QID : 78 - Which of the following writ is issued to a government servant to prevent such action, which is not his right to do?

el TR ST @l IS AT A & forg, O S8 v T SifireR e 8, FRmfoRea @ & aie @1 Re ot femar s 82

Options:
1) Certiorari
C
2) Habeas Corpus
&Y mregefeneor

3) Mandamus
27

4) Quo-Warranto

SRR g1

Correct Answer: Quo-Warranto
SR gt

Candidate Answer: Mandamus

TRATEST

QID : 79 - Theright to propertyisa____________right.

Tufy &7 SR g SfAFR &1

Options:
1) legal

2; fundamental

3) natural
agfifa

4) No option is correct

i ey 9t e &

Correct Answer: legal

Candidate Answer: legal

QID : 80 - Which one of the following was not a common feature of major cities of Indus Valley Civilization?

fFreafafea @ o Ot ue Rdivar Riy arél wwar & wa et i gen g e T8t o2
Options:

1) Town planning

IR

2) Use of burnt bricks

RIS 521 oAl ITATT

3) Irrigation canals

IGEIEER

4) Fortified citadel

e g

Correct Answer: Irrigation canals
e it el

Candidate Answer: Irrigation canals

R B el
QID : 81 - What was Sher Shah's childhood name?

SRR o =T T AT T AT?

Options:
1) Hussain Ali
g8 areft

2) Hasan Khan
ESEEEL

3) Farid Khan

g @l

4) No option is correct

Correct Answer: Farid Khan
@i

Candidate Answer: Farid Khan

wie @t

QID : 82 - What is the "Sea of Tranquillity"?




Options:

1) A tranquil wave of Atlantic Ocean
3¢ HERITR <hl Yah 20Tl HIRT

2) A spot on the Sun

T o1 Yo g

3) A part of the Moon

dle, T Qeh fgwam

4) No option is correct

g frohey ot TE 8

Correct Answer: A part of the Moon
dig o1 Qe fg=am

Candidate Answer: A part of the Moon
iE T e T

QID : 83 - What is 'Roaring Forties"?

Options:
1) Strong westerly wind of North Hemisphere

i) &Y T gar
2) Strong westerly wind of South Hemisphere

& gt gar
3) Snowstorm of Arctic region
STTehTeeh & ST ThieT Jrh
4) Snowstorm of Antarctic region
T &¥1 T IRt et

Correct Answer: Strong westerly wind of South Hemisphere

< i dor 1Tl Y gt gl

Candidate Answer: Strong westerly wind of North Hemisphere

I Tireref Y a7 fer Y ugen gar

QID : 84 - Which of the following organelle is not found in human cheek cells but it is present in onion cells?

e o &5 I1 U 3iFTeh 78 i 1Tl T hifRART H 61 UTdT ST &, FAch=T TS <hl ShifAhT 7 IUMAd i1 87

Options:

1) Cell wall
et ARy
2) Cytoplasm
RIfAeAT 5T
3) Nucleus

4) Plasma membrane

TATSHT

Correct Answer: Cell wall

hifRrent fAf

Candidate Answer: Plasma membrane
TATSHT

QID : 85 - Which of the following is called 'Amphibians of Plant Kingdom'?

Frafafea ® 9 fF9 'uey ST o1 3TER’ Sl STTeT 872

Options:
1) Bryophytes

2) Algae

pare

3) Pteridophytes

REwEe

4) Gymnosperms

Correct Answer: Bryophytes

2

Candidate Answer: Algae
et

QID : 86 - Which one of the following disease is a communicable disease?

Frfafea A& & w9 @1 e dmavia I 82




Options:
1) Marasmus
HHY

2) Cholera

5

3) Rickets

4) S::urvy

TRt

Correct Answer: Cholera

Candidate Answer: Marasmus
R

QID : 87 - In which of the following objects will the property of inertia be the largest?

ffafea o @ forg avg o1 ST s/t Tt warer gim?
Options:

1) Toy car
faei T R

2? Motorcycle

3) Car

DR

4) Truck

&b

Correct Answer: Truck
&b

Candidate Answer: Truck
b

QID : 88 - Which one of the following is not an example of Static Energy?

Frafafea & @ o 1 v st Soif a1 Iergor 781 82

Options:

1) Water in a bucket

e F g

2) Stretched rubber band

T GATES &8

3) A balloon before it pops

e TeaRT Fee & uge

4) Moving car

Feiell R

Correct Answer: Moving car
HR

Candidate Answer: Moving car
hR

QID : 89 - What is "COBOL"?

Options:

1) A Virus

ek TR ol fawTog

2) An Extinct Species

Te faqe wefa

3) A Computer Language

TRERIER hl Teh HTHT

4) A Banking Process

ek dfchir ufshar

Correct Answer: A Computer Language
SRR Y Geh HTHT

Candidate Answer: [ NOT ANSWERED ]

QID : 90 - Which one of the following is formula of Blue Vitriol?

Frafafea & @ a1 g e A (g Rifgstien) 1 Iematies 3 82
Options:

1) CuSO

2) Cu,SO

3) CuS0,

4) CuSOy4

Correct Answer: CuSOy4

Candidate Answer: CuSOy4




QID : 91 - Which one of the following fibres is also known as cellulose regenerated fibre?

FrefafEa & & fha R (F15eR) &t SGed GASId 21T el ST &

Options:
1) Plastic
Liisc

2) Acrylon

fehallT

3) Polymer

qiferR

4) Rayon

Roict

Correct Answer: Rayon

Candidate Answer: Acrylon

QID : 92 - Which one of the following biosphere reserves of India is not included in the world network of bio-reserves?

Fr=fofEa § @ uRa &1 i a7 Iriehr Red fay ariahrR Reid Aead & afae a8t 82

Options:
1) Manas
=g

2) Nilgiri
iR

3) Gulf of Mannar
TR Y @St

4) Nanda Devi

et &t

Correct Answer: Manas
g

Qandidate Answer: Nanda Devi
e &t

QID : 93 - Development of ‘Agriculture’ was on top priority in which of the following Five Year Plan?

iy a1 farepra fRmfaifa o @ forg derandfa dierr &t mrafierarsi § ged S a1?

Options:

1) Eighth Five Year Plan

3Tl Ugasie FierT

2) Second Five Year Plan

3) Third Five Year Plan

T Gaasfa dr

4) Fourth Five Year Plan

Ig deasta asET

Correct Answer: Third Five Year Plan
T daas Ao

Candidate Answer: Third Five Year Plan
I GaasTE AT

QID : 94 - Who among the following scientist invented the Dynamo?

S o SnfseR RefefeT @ v denfaes 3 fham?

Options:
1) Thomas Alva Edison
I et

2) William Murdoch
faferm A€t

3) Michael Faraday
TTEhel IS
4) Samuel Colt
Jart Fice

Correct Answer: Michael Faraday
B ECT R

Candidate Answer: Michael Faraday
ATgRd IR

QID : 95 - Which game came back in the Olympics after 112 years?
Frafafaa 3 @ e e Qe it siieifte & 112 auf & ag aoh g€ 82




Options:
1) Golf
i

2) Triathlon
AU

3) Pole vault
iet dfee

4) Rugby
R

Correct Answer: Golf

Candidate Answer: Golf

QID : 96 - On which river bank is the famous monument 'Taj Mahal' situated?

Ui TIReh d1eT Ager' fohg ) & fohm fRa 87
Options:
1) Krishna

Eadl
2) Bhagirathi
rfiReft

3) Yamuna

ag
4) Brahmaputra

ERke)

Correct Answer: Yamuna
ag

Candidate Answer: Yamuna

ag

QID : 97 - Arjuna Award is given for

IS &R & forg feam sTram &1
Options:
1) Exceptional service in emergency
SATUTAehTeT & SFETYROT Jar
2) Exceptional service in slum dwellers
& forg SrameRer ar
3) Outstanding performance in sports
T H IGE Has
4) Bravery on battlefield
T & Har | agrgdt
Correct Answer: Outstanding performance in sports
W A ISP ueL=
Candidate Answer: Outstanding performance in sports

et H IepE Hae

QID : 98 - Which of the following books has been written by Vikram Seth?

e gkt § § S <t g a6 7 fordt 82

Options:

1) The God of Small of Things
g Tl Sifth Wi fafrg

2) The Hypnotist

< ferifeee

3) A Suitable Boy

o e arg

4) Train to Pakistan

1 ¢ uifhsa

Correct Answer: A Suitable Boy
3 Yeaa drg

Candidate Answer: [ NOT ANSWERED ]

QID : 99 - Which of the following countries committed to strengthen bilateral relations in the field of Agriculture with India in January 2017?

SHERt 2017 # Frafafea 7 @ eg 31 7 IR & a1 iy & & A fgueita deui et weigg o & forg uiiecgar siars 8?




Options:
1) Germany

2) France
i

3) Russia

g

4) Israel

ESNES]

Correct Answer: Israel
ESNES

Candidate Answer: [ NOT ANSWERED ]

QID : 100 - What is the name of unicameral legislature of Bhutan?

eI <l Yeh Tefar faenfent e e A a41?

Options:

1) Jatiya Sansad
qqe

2) National Assembly

A

3) Tshogdu

4) Legislative Council
faum oRwg

Correct Answer: Tshogdu

Candidate Answer: Jatiya Sansad
qdq

| e e P .



